






Find the missing one  (?)

Wheat, Barley, Rice - ? 
गेह ूं, जौ, चावल - ?

A. Food / खाना
B. Pizza / पिज़्जा
C. Farm / खेत
D. Grain / अनाज



Find the MISSING (?)

752 : 28 :: 623 : ?

(A) 41

(B) 42

(C) 45
(D) 46



Find the MISSING (?)

L * U : 3 :: N * W  : ? 

(A) 4

(B) 6

(C) 7
(D) 9



Find the MISSING (?)

TD : 16 :: YH : ? 

(A) 25

(B) 27

(C) 36
(D) 64



Find the MISSING (?)

25 : 51 :: ? : 83

(A) 49

(B) 81

(C) 64
(D) 16



Find the ODD  one (?)

1. Jodhpur / जोधपुर
2. Manipur / मणिपुर
3. Nagpur / नागपुर 
4. Jabalpur  / जबलपुर



Find the number of triangles in the given figure.

A. 21
B. 14
C. 16
D. 15



Find the odd one (?)

1. ADP
2. LOX
3. PIN
4. EPK



Find the odd one (?)

1. LU
2. FP
3. JS
4. BK



Find the MISSING (?)

1. 12
2. 18
3. 17
4. 15

3 4 5

8 7 3

6 3 8

16 ? 9



Find the missing (?)

Parents , Rich person , Farmers / माता-पपता, अमीर 
व्यक्तत, किसान



Find the ODD one(?)

(A) Narendra Modi / नरेंद्र मोदी
(B) Rahul Gandhi / राहुल गाांधी
(C) Mayawati / मायावती
(D) Arvind Kejriwal / अरपवांद िेजरीवाल





Statement :-
Some machine are kite. / कुछ मशीन ितूंग हैं। 
No machine is hero. /कोई मशीन हीरो नहीूं है। 

Conclusion:-
Some Machine are hero. / कुछ मशीन हीरो हैं। 
All kites are hero./ सभी ितूंग हीरो हैं। 
Some kite are hero./ कुछ ितूंग हीरो हैं।



Find the missing  (?)

CHANCE : 10 :: FASTER : ?

1. 25
2. 22
3. 17  
4. 12



Find the MISSING  (?)

169 : 10 :: 144 : ?

1. 8
2. 12
3. 18
4. 6



Find the odd (?)

1. M 25 H
2. J 16 G
3. R 49 K
4. K 49 D



From the given alternative words, select the word which can be formed using the letters 

of the give word :

दिए गए वैकदपिक शब्िों से, उस शब्ि का चयन करें दिसे शब्ि के अक्षरों का उियोग करके  बनाया िा 

सकता है:

INDETERMINATES

(1) PRETINA
(2) RWEMIND
(3) RETINUE
(4) DETERMINE



Find the MISSING  (?)

Current  : 3 hour 8 hour   ::  water : ?

1. 11 hour : 6 hour 
2. 21 hour : 12 hour 
3. 1 hour : 6 hour 
4. NOT 



Pinki ranks 16th from the top and 15th from the bottom in a 
class. How many students are there in the class?

पप ांिी एि िक्षा में 16 वीां और नीचे से 15 वीां रैंि पर है। वहााँ िक्षा में कितने 
छात्र हैं?

1. 30 
2. 31
3. 32 
4. Cannot be determined  /ननधााररत नहीां किया जा सिता है



Find the missing :-

Aman = 42
Shivam = 62
Bhim = ?

1. 32
2. 41
3. 55
4. 64



If A is the brother of B; B is the sister of C; and C is the father of 
D, how A is related to D?
यदद A, B िा भाई है; B, C िी बहन है; और C, D िा पपता है, A, 
D से िैसे सांबांधधत है?

A.Brother
B.Sister
C.Nephew
D.Uncle



In a certain code a number TIP is written as 13 and RUN 

is written as 25 . How is JOY written in that code ?
एि ननक्चचत िोड में एि सांख्या TIP िो 13 और RUN िो 25 िे 
रूप में ललखा जाता है। उसी िोड में JOY िो िैसे ललखा जाता है?

(1) 30

(2) 10

(3) 00

(4) 05

(5) None of these



Time of 2 : 12 : 20 is being seen in the mirror , 

what time will it show ?
2: 12: 20 िा समय दपाि में देखा जा रहा है, यह 
किस समय ददखाई देगा?

(A) 9 :47 : 40

(B) 9 :45 : 41

(C) 9 :42 : 43
(D) 9 :41 :45



If (-) stands for division, (+) for multiplication, (÷) for subtraction and (×) for 
addition, which one of the following answers is correct to the given 
equation?
यदद (-) पवभाजन िे ललए खडा है, (+) गुिन िे ललए, (and) घटाव िे ललए 
(और) इसिे अलावा, (×), ननम्नललणखत में से िौन सा उत्तर ददए गए 
समीिरि िे ललए सही है?

4 × 64 - 8 ÷ 4 + 2 = ? 

1. 4 
2. 6 
3. 8 
4. 1



Choose a figure which would most closely resemble the unfolded form of 
Figure (Z).

A. 1
B. 2
C. 3
D. 4



Find the option which should replace (?)

25 : 64 :: 35 : ?

(A) 64

(B) 81 

(C) 72
(D) 100


